o g <=

Phan trim s (s6 bi thiéu)

Tén:

x70% = 32.2

x 80% =71.2

x 40% = 26.8

x 50% = 14.5

x 90% = 50.4

x 10% = 8.3

x20% =174

x 10% = 7.1

x70% = 57.4

x 90% = 64.8

Ngay thang: Diém:

x30% =9.3

x 40% = 324

x70% = 50.4

x20% =9

x 40% = 35.6

x70% = 13.3

x90% = 4.5

x70% = 56

x70% = 19.6

x40% =22.4
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SHEerys

Phan trim s6 (s6 bi thiéu)

Tén:

46 < 70% = 32.2

89 x 80% = 71.2

67 x 40% = 26.8

29 x50% = 14.5

56 x90% = 50.4

83 x 10% = 8.3

87 x20% =174

71 x10% = 7.1

82 x70% =574

72 x90% = 64.8

Ngay thang:

31 x30% =9.3

81 x40% = 32.4

72 x70% = 50.4

45 x20% =9

89 x40% = 35.6

19 x70% = 13.3

5x90% = 4.5

80 x 70% = 56

28 x70% = 19.6

56 x40% = 22.4
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Piém:
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